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DIVISION PROBLEMS 3.3 

Work out the answers to these division problems involving sharing and grouping.  

 

1) Sally plants 30 runner bean seeds in rows of 6.  

How many rows will there be? 

 

2) Newton needs to buy 40 raffle tickets. They come in packs 

of 5 tickets.  How many packs does he need?  

 

3) Frazer runs 3m in a minute.  

How long will it take him to run 12m at this speed? 

 

4) Captain shares out 36 snails equally between his 4 friends. 

How many snails will they each get? 

 

5) 35 children get into teams of 7.  

How many teams will there be?  

 

6) Quadra eats 4 spiders a day.  

How long will it take him to eat 40 spiders? 

 

7) Tyger shares out 28 rubies equally between 2 chests. 

How many rubies in each chest? 
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DIVISION PROBLEMS 3.3 ANSWERS 

Work out the answers to these division problems involving sharing and grouping.  

1) Sally plants 30 runner bean seeds in rows of 6.  

How many rows will there be?  

30 ÷ 6 = 5. There will be 5 rows. 

2) Newton needs to buy 40 raffle tickets. They come in packs 

of 5 tickets.  How many packs does he need?  

40 ÷ 5 = 8. He will need 8 packs. 

3) Frazer runs 3m in a minute.  

How long will it take him to run 12m at this speed? 

12 ÷ 3 = 4. It will take him 4 minutes. 

4) Captain shares out 36 snails equally between his 4 friends. 

How many snails will they each get? 

36 ÷ 4 = 9. They will each get 9 snails. 

5) 35 children get into teams of 7.  

How many teams will there be?  

35 ÷ 7 = 5. There will be 5 teams. 

6) Quadra eats 4 spiders a day.  

How long will it take him to eat 40 spiders? 

40 ÷ 4 = 10. It will take him 10 days. 

7) Tyger shares out 28 rubies equally between 2 chests. 

How many rubies in each chest? 

28 ÷ 2 = 14. There are 14 rubies in each chest. 
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